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(R 2SS )R HEENBA R AURX) = —e T B x AN EEWH
FRErTRH-ANONTH - ZARELRBE T HREBp O S
WRAREBRBENLAA W —EPROTHETE 2w FAE R RIFEA
By IR B o
(—) FEHZLH & H R YA A E (absolute risk aversion ) 542 & — ¥ & -
(10 %)

(=) ##TREANYFABELR LR ZHEEZHEEBELA(W>0)8
AL EHEER - (10 4)

(Z) FRALFEER LM ERELAACREYF LB FIHENHA G -
(5 4°)

(B 25 ) FRERARIER T AT FTHEES | —F > FAEATRE
Fo K RAERAN > MBLH 10 BEHEE T > TRIBMEFIABETEBERE S
RREE WA T M EARR  — AR EARABEXIAL 800 T B
— B ARREILA0 7T A PFERRR > B HEEBAD N AEE 44
320 /LFe 260 7 - FH FRBRAEKR B A ET KA T/ RS Ay
Mo BEAERERANEERASL 0 GAMAAEHITEBERXRA

(—) WwRABHEHLE—F TRERABREITCE B Rithi
R EITE R% o (5 o)

(=) wRERBHERATUHKAZN TR METUREABERAK E G EE
FRAFTRERARFR S M TERS - 5 2)

(Z) WwRFRBERBATUHEAZINTE  ELEEIBERARAGERE R
MM AERETERS c (B - N AEELEEREF » THAZ AR R
AL TARE R RBATHHEITENEE ) O )

(wm) BE)-(Z)ANHFEBEA » BRABHE? (S 2)

(B) WwRBENEEGHELE25%  KREHHEEE 75% EHa4E
(=) AR BB HEEH AR TEHE T IR ITIE Rk o
(5 %)

(#TR)



HES12 FRAEE2FTREE »
#8 : &EP ‘ (2—F ' %=-8)

(B2 )BERAESHTRELRER » £ 42— 2 A& & Semilet » 3% &
A ABRMYTIHBLEGEFAIOET - BRRHTERZERLEAABRR
BAE > R REABRRBEE > HFHeimAh40ET - Bo— KA
ABlRE G A—RARRE ZABROBEHTURREBEARTIFHEM - !
o Ry KB Bl B35 > RPIBFAR AR R 0 I R G o —ay 2
AR BRERBLEARRELE  BFELEEI0ETHIE > Rk

RIARBIIEE - UTHABRERERAEECRAENEERAS 0 LLEHILS

;}ﬁ— o _

(—) WRRIREHEAFTHUATLEARZENAER FETHEASHT A

Semilet 7 3572 8915 44 45 [ (payoff matrix) » 3t 3% 4935 #4475 (Nash
equilibrium) - (10 %)

(=) W REmETAMEROER SBREINTHAEABARERER

R FRESHEGHE RS - (5 5)
(Z) ARBE(=)IAR R SHTAABRYTHKAEE S R(HhodF ~ B
FBF) 0 I AARA TRRBILREF RS ? A44E 2 (10 2)

W (B 25 ) ENMBEHBEARRAFHE T R T4 T ¢
Y =Y =C+I+G,
C=a+b-Y,
HEP Y ABLEL YABLER CAHRMBEEXL 1ARET GA
B EZd Y BEEBEAS  afub Bl AKRD 0898 8 o f£39458F
Y =Y =Yo |

(—) #HHRPafmbhyEHEEHL - (84)

(=) BESEHFE > 2020 £ BB R TIRE=LK, (FABHF
1,000 7t > B4% @ %A 3,000 7L =45 3) > 3,000 7T =4F A& A £ 48T 1,200
FAHHEHE - FRAZBFLERZARAT DRI HEOTIRERR -
(7 )

(Z) ZHRABERZEAEmE BEEE 500 &T > FRBERK=REHRMUE S
Sy GDP ¥hwb b ? (R - ZAFFEFHFEREH LA )

(10 %)
(RAMREHE)
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#8 :HEe (#—R)
MTER — B B (FREEB+ ~ — X~ % ~/ ~MR~ MC
M+~ M-3E o) 45

73 T Ak 3E X A1 #7 | (disruptive innovation) ? %47 & 1% A& FF ik

A IR XA #6945 F ? 4835 (Uber Taxi) & a% 3 X £ #7987
(20 %)

MR e B EAT A AN ? EALEB THAELT A -

BEBT AR R ANBETEHEARRESE 2?20 5)

» ESG(%-%] X % Environment, Social, Governance) & i £ 3 4&

FHHERNBRE - R E L EER2ETFESGREE? Y
CHABIR ? 8 XTAER RIS IE F BB 2 (20 2)

FE 4% 7% 1% (post-pandemic) B X, » 4T & £ 38 & i6 @ BE A J7 4.4
MRRE  SAHEEHA?DEAN T IRIPIH LT A+
JERR R Rk ? (20 4)

& E(TSMO# 2022 4 J& & A7 % #| £ B 4 (Arizona) & [B 3%
Bt g R CHRALRS L ABRANIRERRE SR
- HemENFFHL REFTOELERABILHER
AT ? B2 ¥ AR 1 60 N 5 R BB A R 7 H & oo
AR 7 (20 4)

(RAgRE4E)



HEH N2 FREGLLRRA

#8 : #ite (2—F)
KTER — T EM(BEZEEHF > — X +% ~v/ ~MR~MC~ M+ - M-BHE o 5:
MUAP SRR » FFoEX LA/ LM -

1. (10%) Suppose that the model is defined as
X;|P; ~ Binomial(n;, P;),i =1, ..., k,
P,~beta(a, B).

Let Y =YX . X;. Find E(Y) and Var(Y).

2. (25%) Suppose X and Y are two independent random variables with the same geometric
distribution.
(a) Let U =min(X,Y) and V =X —Y. Find the joint probability density function of (U,V), and
show that U and V are independent. (10%)
(b) Let Z=X/(X+7Y).Define Z=0ifX +Y = 0. Find the distribution of Z. (10%)
(c) Find the joint probability mass function of X and X + Y. (5%)

3. (10%) Let X~Normal(y,6?) and Y~Normal(y, c2). In addition, suppose X andY are
independent. let U =X +Y and V = X — Y. Find the distributions of U and V and show
UandV areindependent.

4. (20%) Let Y; = fx; + €;,i =1, ...,n, where x;’s are fixed constants and €;’s are i.i.d.
Normal(0,0?). Here f8 and 62 are unknown parameters.
(a) Find a two-dimensional sufficient statistic for (8, 02). (5%)
(b) Find the MLE of 8 and show that it is an unbiased estimator of £3. (10%)
(c) What is the distribution of the MLE of S7? (5%)

5. (15%) Suppose that Xj, ...,X,, come from i.i.d. with a beta(u, 1) pdfand Y;,...,Y,, arefrom i.i.d.
with a beta(@, 1). In addition, X; and Y; are assumed to be independent.

(a) Find the likelihood ratio test (LRT) of Hy: 8 = u vs. Hy: 0 # u, and show that this test is
based on the following statistic,
_ YlogX;
Slog Xi+> long.
(b) Find the distribution of T when H, is true. (5%)

(10%)

6. (20%) Collect an ecological data {(x;,Y;),i = 1,...,n}. Here x; is the size of an areaand Y; is the
number of mass plants in that area. Suppose Y; comes from a Poisson distribution with the
parameter Ox;, Poisson(fx;), and assume Y,’s are independent.

(@) Find the least squares estimator of 8. (5%)

(b) Find the MLE of 8. (5%)

(c) Compare these two estimators. Identify which one is the better estimator and give your reason.
(10%)

(RAMRALEE=)



HEMN2 F2EGELRRA v

#8 g% (2—R)
XA — &I EM(REEH+ ~ — x>+ % ~y/ ~MR~
MC ~ M+ ~M-ZBE h8E)

— ~ 3E P9 &R F 78 B B B3R (semi-strong form market
efficiency) ; 3t LA —18 £ 4] 30 80 ko F| A F 38 S A 35 24 R
BB RS FINA A A 69 F M (useful information) o
25 %)

=~ R—EBAFERA ST R E TR R e BB
(relevance of accounting information) ? (25 %)

=~ Bl g3 £ 8| 22 F ¢ (International Accounting Standards
Board)# 2023 5 6 A E X 4% B 58 H 4R T8 R K448
BEREAESIERAE S2 3 - RP BRI R EE
PR X KERMER » RREE LT A HBRE P
FHHBREET N EAZEZ BB ELEHR
HEERE 5 ITIHEEL G FHE S (2
BEXH G THEGEETARAZFAL Flhom - FH 2 HA-
(25 )

W BERKky#HEEP BT AR ERE—F & 2023
F4 8208 HKE REPORE S34 B FEFRY
ML B ERIRLL B BELS B G 5% BERE - 4
267 fELBEE S c XF MR BEEF ARMESZ €3
BRI 50%Z BIELBZ AL EM - (25 %)

(RAEREHE)



HFHN2 FLAREELF R »

##8 ' MBefEe (2—R'#%—H)
TR — Rt B (REREB+ ~ — x+-% ~ ~MR~MC~ M+~ M-3E& 5
)

—~ (&5 20 5)BET 7 82 F A&+ (Capital Structure) FHELE R A MR A -

(—) AfEFEARSHNE) ARLER(AFERAETE)BK? (54)

(=) A4TE & 718 %14tk (Market-to-book Ratio of Assets » Bp & {5 & @18 14
R RHEBTEHNENRAETEARDELA) RSN EFELERK?
(52

(Z) EHtbiskriaRE % — %A 82 811 ¢ (Labor Union) & 3% ] 45
AR RN AR RERZMAD AR TRBELENEEA
®0Ga)

(W) ATREHMERE  A— 2 EBEERY LARLERALRR
Rl LTTRE A BRARHER 25 4)

=~ (485 20 ) M HBAR SR E XA E 3R, © B T CAPM(Capital Asset Pricing
Model) ¥ &) & LB B 248 > 2 8] 84 H 4645 1 (Characteristics ) ¥ 7 4% 7 &
(Cross-sectional ) Bk Z 3R B4 K 43t LBAZ e FARIAE ) » XBRFPAEsL AR %
B, % (Anomalies) - LRGP XM FPHERTHERETR L -
(=) ABT2WMUKeHERLLEBHELTREL ? BRBRY RO HAE > 4
RENFARFTREARE > 5] H 4537 ﬁ‘:ﬁ—"f’xv:%:%é’] AR It
g —faR - (10 45)
(=) BMXBRPERwILS Y EFR LT R A E D HER(Efficient
Markets Hypothesis) R g 3L ? BEARFEZE - (10 &)

S 15 )| A TF SR A -
(—) HEBAHZ NI E 2 KE BF A (Unrealized Capital Gain) A% 5 49 2

5 AAR—BAAR R ZMB B LSRR ? FRBELENEE

2R -G %)
(=) #&if 1 £ B 422 4 (Eamnings Announcement) Z & £ 3 F A% 5 892 3] »
ERAR—BEHBORERMBEZA SRR ? TABLENEEE
B BENERIE HELEN2RETEL I RE4RBZE TR
(#TFR)

’



HEHN2FARYEZRNEA
#8  HHERES | (=R ' %=R)

(Abnormal Return) &5 485w - (5 %)
(=) MEIHBAHNRETEASH AT > ERR KA IR 2R E
FAABH R ? FRELZENREEAR - 5 4)

g~ % Z B R B 2547 (Initial Public Offering, IPO) 84 % B 471 (IPO
Underpricing) &£ 45 : B4R EAUABEEAIPO KE » IR EFHE 1 X
WREBE YL > RITTESASOMRE - 78 3 4% K PO B ATHEME
B RAB— B BT E% PO FATH - (15 %)

A~ (#% 15 % )Douglas W. Diamond $2 Philip H. Dybvig iz £ % $ 7 484735
S.(Bank Run)323 A €& ERK  sL A SF 2022 £ A ARE L8y E
ZRE - BISTFRERMEEZBATHELE A WP -

(—) AT E4THRL RS (Providing Liquidity)) #9558 2 (5 4

(=) BT ERTHEERMEERBEEN > BRAMTREREL 25 %)

(=) ZIH 2T HRBATHERAEE » RAZ LB BTEEFHRH R o
(5 %)

N~ R4 T ey £ X &4 (American Put) - 4269 F # (Underlying Asset) & 1 A& #
R F 0 FAE G IATIE 4 (Exercise Price) & 50 7T » MAIHF 7 2 #174 213
BATA R F o8 TR A 40 7C > H B8 e 3RBH R % 100% 2K, - 50%(Br A
L3R 1R Tk 50%) o AR S RERA - BHEA &) &ABR A E (Risk-
free Rate) & 25% o LA —u3FE 7% (Binomial Valuation) K% % X &4 8 a7 49
1BE - By ERHFBE - (1559)

(KA R 5 E)



HEH 2 FRAFHEELRRE  »

18 EAReRE (2=R " %—R)
T A — R A (RERB+ ~ — X 5% ~ ~MR~MC~ Mt ~ M-S & 5

A3
He

— (B 200)MRERFALBRBAAREXAY HEEL R BT Lo
— WA EREFHAMENTHERRDRFITY c TAAALBHRLEZ —
FHXBYAREHNSIHE - BERRLEE 24851 -

X X
AR 1 2
BH a

(—) ELRBEGEETHRBE - (42)

Py o
(2) wREAREL S AREALE L H A WARGREES(F, ) UA

h S

w
REMAAHTE B ZHBEAT?6 )

2 1

(2) BamBLERAABRAOREEBALLAZHE AU =X « o £
MBS EE AR LBRABHAERLY ERTH AARY

Py ¢
REEE (5, ) RAEAET 2 (10 )

Z (A 2 9)VBRBRARRABRBLAE X AR B ABRXALTHLES
FTH e pREBRA ETHRBERFHET BEAEGY S AR
494k & 48R ER(total surplus) &y 4L - (B Z K —25 » BIXEHE)

(—) #EB IR - (6 4)
(=) #EHDHH - (6%)

= (B 18 BRARA IR ¥ X AR AARX ASTHATLESE
T R AEAE X FAEANNRALEEIERALE R - (24
RAEXMAEANANFRREBERAR X E DTS5 5% B RA(E
TR BXBHE):
(#TFR)



HEFMI2ENEEELRRAE »
B AREKSE (2=R>$=7)

(—) ARLEBLBREBARTRTET » THERIEF OB RE -
(4 %)

(=) ABAEB B E S THARTERE - 4 »)

(2) AR X BTHFEOHE MEAROETAT  ALERLT  fa&
WBWE S ARG ESBRETEIL v - (10 2)

m ~ (8% 20 2)F A T3E " Impossible Trinity | ? (6 S MTE BA T 2H8% | 2
(4 m)iEd > FHRGBYEHRERFmnt > EARSBHZT > FRE
B E R G FBORMR B 6 B4 0 SR ok B A8 82 Impossible Trinity &) B
i# o (10 o)

B (Br 1S FeBRAT g s BT BB NE o (50)ikm » 3R
{738 " Marshall-Lerner condition ; ? (5 4-)24 & Marshall-Lerner condition £ J
A R Z BB 1A - (5 %)

N> (B IS 5 ERAMA T SEFFK S 7 (5 )P B 2005 FAe+F o Hob
AR Bk B4 0 M B o 1986 £R714  FERIIEHFEBE &
FRARFFANOREAAMER ? BN ETHRLAERBHB O Z o
(10 %-)

(AR LAHE)



